2019 E £HAI)—REZAIART—MEFIERE HiEIOVIRE

AE—FRS0—L BALEZATIL

FxLoP EF 2019/3/31
ETR s #5388 1EE 1A 2EH  |2E| AR | gy
No 51 BAL (NF| B8R | BB | 2A4L (NF| EBE& | MBS | Bk
1 25 |EEKE |VIYF v |[BHME S| 7.340 0| 7.340 1 7.050| 1| 7.250| 1 7.250| 1
2| 27 |[EB KH AU EAF BESE B| 8190 8| 9.790 2 8.030| 10| 10.030| 2 9.790| 2
3| 26 |BRER B |/\vhY <A T41E &| 9.090| 4| 9.890| 3 8.620| 8| 10.220| 3 9.890| 3
J—)LEHYSR Da=FEF 2019/3/31
EJZ B2 IR 18 |18 2B |2B| ARk | g
No PRI 4L RNF| B8R | B | 4L (RF| ek | AL | FRER
177 |EE WA /N\EoYFx RAILE % DQ DQ | 6.090 0| 6.090| 1 6.090| 1
2 78 BREN TAX/ =g x| 5990 1| 6.190| 1 5720 2| 6.120| 2 6.120| 2
3| 74 |EHRED VA A/ EEE %| 6.340| 1| 6.540| 2 6.270 1| 6.470| 3 6.470| 3
4 80 |BKEEEE /oY /YS |EER % 6810 2| 7.210| 6 6.390| 1| 6.590| 4 6.590, 4
5| 73 R ER |(AbY 4 mz=ng x| 6.070] 3| 6.670| 3 6.270| 2| 6.670| 5 6.670| 5
6| 75 |4IB#MT YIUT TV |EER %| 6.740) 0| 6.740| 4 6.740, 0| 6.740| 6 6.740| 6
772 | SFH IME A4 AN EEE %| 6.500] 2| 6.900| 5 6.310| 4| 7.110| 7 6.900| 7
8| 76 |#FE IR |=AHAXI |BHME k| 7.230] 1| 7.430| 7 6.320| 4| 7.120| 8 7.120| 8
of 71 A% HFBER|KUY XFS  |BHME x| 7.010 4 7.810 8 7.080| 5| 8.080| 9 7.810| 9
0 70 |kHE |FHAU R & DS DS DS DS DS| DS
D—ILEISR Ca=FHF I 2019/3/31
ETR EZ #IEFF R 1£8 13EH 2&H 28| RRAb | =
No pi ] 4L N7 B8R | JEfR | ML (RNF| EoEx | IEGL | §RE%
1 106 ;I8 BAZ |[To< MEAX |ER#HBE| 5180 0| 5180 1 5320, 4| 6.120 2 5.180| 1
2| 104 KB WK FH/ 7445 #%EE 8| 5430 1| 5.630| 2 5530, 3| 6.130/ 3 5.630| 2
3 107 |/VBk EtS oYY L4 |BHE B 5.030, 4/ 5.830 3 4980, 4| 5.780| 1 5.780| 3
4| 108 |h#t 3% |FHLS THED EER 8| 5260/ 5| 6.260| 4 DQ DQ | 6.260| 4
5| 103 |BHA BN |[74F 29y |(wznges| 67200 1] 6.920, 5 6.600| 3| 7.200/ 4 6.920| 5
6| 101 BB EBEK HPvVH4E “EB B| 7.360, 0| 7.360| 6 7.050, 3| 7.650, 5 7.360| 6
70 102 |48 BiE LU VYIRS EER 8| 7.230) 4| 8.030 7 7.240| 4| 8.040| 6 8.030| 7
8| 105 |/NHk #fE |33YS Doy BHRE|  DQ DQ DQ DQ DQ| DQ
J—ILEOSR V=7 BB 2019/3/31
ETR E% AR 1EE |18 2EH |2 H| ARk | mu
No TR BAL (NF| foEk | BB | AALL (RF| Eosk | MBS | EEgk
1167 |JIlig £/ |hoP< FyE |EEER %| 5530 0| 5.530/ 1 5,500/ 0| 5.500| 1 5.500/ 1
2| 166 |#MA % D4 L1F Bl %| 5670 2| 6.070| 3 5.580| 0| 5.580| 2 5.580| 2
3| 162 |fni% &t |[HE RV #fEE B| 5350 3| 5.950| 2 DQ DQ | 5950 3
4| 160 |MnEE ®=EA AbY AYTFX  (BHME B 5350/ 5| 6.350| 4 5.380| 3| 5.980| 3 5.980 4
5/ 163 |[RAN #E|NtEHD 2T |BER B| 6.050, 2| 6.450 5 DQ DQ 6.450| 5
6| 164 B B— |74 RMEAX [fEHE B| 6.060 2| 6.460 6 DQ DQ | 6.460, 6
70 165 A #% AHhEFEDT |HEBF X DQ DQ DQ DQ DQ| DQ




